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Geometry 22; 5.1-5.4, 5.6 MORE Extra Practice

Use the &mm.ﬂw at the right and the given information to find the mo:c,u;nmw
Giventhat AX =12, m£LAXY =72°, AC =40, XY=18, m<L C=50

pazae_ S8 ) %z _AC
sﬁu. 5«., Qﬁmw.m;m Ale

1) m£LB= J W 7) perimeter of AXYZ = .ut@

y xz= A0 8) BC=_ 2

9) Solve for x.
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Draw and label the following:

10) perpendicular bisector of 4B 11) angle bisector of £ XYZ

X
s N
— a «
a : £ z
12) Solve for x. | - Using A4ZBC below, name the following.
: = | 13) Which point is the circumcenter? W
5x -3 Sx-3=hw : , ,
A 14) Which point is the w:ogauq T
I+ 1 C o=y
5 .

A= g~

15) How does HL relate to ZKHF ? What is the velue of y?
L : L TR b
| Loy Fg

¥, ! -
K F w,v -8 &
B Ty + 188 W= A

16) To find the point that is equidistant from the 3 vertices of the triangle, you would find the point where
the 3 Rac ~encliculer bisectors intersect.
T

17) This point (from #16) is called the 0o tum Cencker”

18) The incenter is the center om:ﬁ@aw cireumseribed circle (choose one).
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Column A Column B
concurrent

the point of intersection of three or more lines m Q
1. point of concurrenc m.a intersection point of the three angle bisectors of mm{. .v
riangle

2. circumcenter of a triangle, vmwmr when a circle is tangent to the three sides of a friangle mW v

3. circumscribed about «& when three or more lines intersect at a single point )
4. incenter of a triangle . JAF hen a circle passes through the three vertices of a triangle Mr.w

‘5. inscribed in “the intersection point of the three perpendicular bisectors __

of a triangle , @v

20) Using the triangle below, create the incenter of the triangle. Be sure to label any congruent part
) -3 Wisecess :

B




Bx-ta = Sx-AY
L~ Ax

22)For A4BC, is each segment & median, an altitude, or neither?
8. 4D Medica
b EG ALk
e CF  (ulhiAudi

23) List the-sides from shortest to longest.

v 4
@, W
24)In D.wmx <P =55 m0 =82, and mzR =43, List the Eanm of the
Emhm_n in order from shortest to longest.
a D
.\W\H/r/ ng Qﬂ\mn;
\,_W..,i.tr_wrj 8 .
T

m.u In AMNS, MV =7, NS = 5,and MS =9. List the angles of the
triangle in o&mn from smallest to largest,

W/ ﬁ.z, p 2 m\ ¥4 Z
26)Is it womma_m fora Emnm_n to have sides with the given lengths? memE

a. 6in 13in 7in z_%u b. 25em, 20cm, 10 cm

G+T=13 s kﬁ? QO+10 =30 .

2 ‘ x4 - - ¢
12213 ¢\\ R T a0>as  WE
27) The lengths of two sides of a triangle are 77 /7 and 27

side, . % gy Bx

! !

Find the range of possible _nnm_.mﬁ for the third
732 Er
5 <4x< 3%

R -

um_c Match the special segment drawn for the following diagram.

£BAE = £ EAC and BF =TT
1. median @ A, AD
2. allitude @ B, AL
3. perpendicular biseclod ) A~ C. AF
4, angle biseclor . CF
29) Fill in the table )
Must pass Must pass Must forma | The point of -Sketch
through through right angle | concurrency is
vertex midpoint always inside

the triangle

. O™
Median Yes/No @Zo %am@ @ 0 \

Altitude %@m@ @Zo . %2@

' b ~—
oy @ . @ \
Ni Y Yes{No Yes/No
Bisector . » nma .\Z

. /l/
Perpendicular @Ao %mm@ ~
Bisector g

i)

30) All of the special points of concurrency ina(n) ) g\}] n__:ﬁ.mé«?mum? intersect at the same point.

31) The circle that is inscribed in the triangle below is.. .. (cirele it), Then, for both triangles, name the ﬁo:,:

<
,DCP u .{\ Ol e Ceasfe

of concurrency,
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